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General Instructions :

(i) This question paper contains three parts A, B and C.
(i1)  Part A is compulsory for all candidates.

(iit) Candidates can attempt only one part of the remaining parts
B and C.

(iv)  All parts of the questions should be attempted at one place.

"= 7397 :

3.

G) TWHTFATITNAATFE - & TIXNTI

(i) 9T % g4 BE F 7T AFE &

(iii)  qO%HE & 99 9T @ HR T F G FF TH AT §F FWATE |
(iv) & 397 & @4t 97 & W & & WH W fAee | |

PART A
(Not-for-Profit Organisations, Partnership Firms and
Company Accounts)

T &
(FHFHH TS89, WEE ®H 91 &A1 @)

When the Receipts and Payments Account is converted into an Income
and Expenditure Account, an accounting concept is to be followed for
the provisions of the Accruals and Outstandings. Name the concept
that is followed.

W& Wiftd Td PEE G0 B SY0T E-7 @Ia ¥ fRar S 8, o Sufer aer
I F U oA 9 % U AwiEd SEed & SIEl R S @
39 Hehodqdl H AW FdET |

Can a partner be exempted from sharing the losses in a firm ? If yes,
under what circumstances ?

N UF TRER H OFH F OFH At @l ¥ wrier @9 § Ow R ST wsan
¥ A A, A et SRR 2

Do all firms need a deed and registration ?

1 g wHf & foE a9 IS # EvEEal gl 8 2
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4. How can a partner retire from a firm ? _ 1

TH GECR T § ST TE0 Y R AT 2

Why would an investor prefer to ‘invest ‘in the Debentures of a

SJI

Company rather than in its Shares ? 1
& v TE FEA A SR A afuen ®oren H fEw & & &b wafiwar
am 2 '

6. From the following informations calculate the amount of subscriptions
to be credited to the Income and Expenditure Account for the

year 2007 — 08 : 3
Rs.
Subscriptions received during the year 40,000
Subscriptions outstanding on 315 March 2007 - 11,000
Subscriptions outstanding on 315 March 2008 5,000
Subscriptions received in advance on 315t March 2007 10,000
Subscriptions received in advance on 315t March 2008 12,000

Subscriptions of Rs. 5,000 are still in arrears for the year 2006 — 07.

frafafaa geamsl § a9 2007 - 08 ¥ 3@-=9 @4 & | & 3R fo@ SH &
ﬁ%wnﬁrﬁﬂwaﬁm

z.
a8 ¥ W@ w< ¥ qfw | ] 40,000
31 w2007 F T T | 11,000
31 W 2008 H Ied T 5,000
31 #1¥ 2007 & Yagd =TI 10,000
31 7 2008 F YHeH T 12,000

59 2006 — 07 % 5,000 & =< & 3ff of a@Er g |
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7. The directors of a company forfeited 300 shares of Rs. 10 each issued
at a premium of Rs. 3 per share, for the non-payment of the first call
money of Rs. 2 per share. The final call of Rs. 2 per share has not
been made. Half the forfeited shares were reissued at Rs. 1,500 fully
paid. Record the journal entries for the forfeiture and reissue of

shares.

Td & & e 4010 F Y&S ad 300 3 &, e fwfmw 3w ufd
3y ffm W fE T ogn, 2 % S Siw WgW e AT B g W@ T ee
F RO Wed A o | 2 % i siy aifm greem O S AR € @ | s fRg
gC 3T F ¥ My sfwr 1,500 . H QUi Ay g frifa & o) i
F Ve wA qd G frited S H Jeemer sfafeat S |

8. Hari Ltd. issued 50,000 shares of Rs. 10 each at a premium of Rs. 2
per share payable as Rs. 3 on application, Rs. 5 (including premium) on
allotment and the balance on first and final call. Applications were
received for 92,000 shares. The directors resolved to allot as follows :

A. Applicants of 40,000 shares 20,000 shares
B.  Applicants of 50,000 shares 30,000 shares
. Applicants of 2,000 shares Nil

Prashant who had applied for 1,500 shares in category A and Sundar
who was allotted 1,200 shares in category B failed to pay the
allotment money. Calculate the amount received on allotment.

g fafides 3 10 & ad 50,000 3 @ 2 & wfa ofwr difgEw & w ¥ frfgw
frar o w wfq sfwr 3 5. oEe W, 5 %. (Nifraw 9fgd) &= W 991 99 yoH
@ I gEA W ST 41 92,000 I % fAU SeEd W g¢ | e A
FrrgaR 3 & &1 feeg .

A, 40,000 33 F ESH F 20,000
g 50,000 39 F 3EeH A 30,000 Y
¥ 2,000 3R F AECH B FS T

sorel e 1,500 3iEh ¥ fw St o1 § amd¥e fem w1 9w g R AR @
4 1,200 ¥ I@Efed feU T A, @A U FOPEE FH A oommd @
HE=A W A AT & OT0E SIS |
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9. A, B and C were partners in a firm having capitals of = Rs. 50,000;
Rs. 50,000; and Rs. 1,00,000 respectively. Their current account
balances were A : Rs. 10,000; B : Rs. 5,000 and C : Rs. 2,000 (Dr).
According to the partnership deed the partners were entitled to an
interest on capital @ 5% p.a. C being the working partner was also
entitled to a salary of Rs. 6,000 p.a. The profits were to be divided as
follows :

(a) The first Rs. 20,000 in proportion to their capitals

(b)  Next Rs. 30,000 in the ratio of 5 : 3 : 2

(¢)  Remaining profits to be shared equally

The firm made a profit of Rs. 1,56,000 before charging any of the above

items. Prepare the Profit and Loss Appropriation Account and pass the
necessary journal entry for the appropriation of profits. 4

¥, F q § TE W F wEeR ¥ e @ s 50,000 %, 50,000 F.
T4 1,00,000 & of | 3% @I @Rl & AT F : 10,000 F; F : 5,000F 74
¥ :2000% (W) ¥ | SRR foom & HER WRER W9 9 5% H R § ¢S
W AN U4 % AFEH 4 | g S HEG 9Eer 91, 9 99 6,000 ¥, 99 off gH
1 A a1 | ol F A FEEER g 9

() ¥¥9 20,000 &. 37 USE & U H

(@) 37T 30,000 % 5:3:2F 9 A

(@) U9 AN F A TR F S

I fodl ff 75 & T YR @ ¥ @ w3 98 F 1,56,000 ¥ FH AN
FAA | - fafEeE @ R ST 9w 9w & fafEse @ e
Asirer Sl FifT | ;

10. (a) A and B are partners in the ratio of 2 : 1. They admit C for 1/8™
share, which he acquires, in equal proportions from both. Find
the new profit sharing ratio.

(b) A, B and C were partners in a firm sharing profits in the ratio of
6 : 5 : 4. C retires and his share is taken up equally by A and B.
Find the new profit sharing ratio. 2+2=4
(1) TN T TR & N Al B 2: 1% Y ¥ ol @ ¥ | SeR «@
H 1/3 3y a9 & fau v ¥ W@y oI, N 97 9 ¥ e &
AT F o1 @ | W faweH @ 797 Sud J19 FI |
@ H, IAN T TE HH F GHR T S AH B 6:5: 4 F G H faofa
F A | F SIHY TSV FAl & a9 I9F HW F A9 H H 99«
FE-AE o g | N e @ T e g S |
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11. Shafina Ltd. had issued 30,000, 9% Debentures of Rs. 50 each which
were due for redemption on 31°° March 2008. The company has in its
Debenture Redemption Reserve Account a balance of Rs. 6,40,000.
Record the necessary journal entries at the time of Redemption of 9%

Debentures.

o fafes 3 30,000, 9% vy frifed fFT gT & ST 9% 50 % F @ | A
RO F OYMEA 31 HE 2008 H B 2 | A F OHEUGT WA HY @ H
9% UG % WET % GHY I NEYISH USHEE

6,40,000 . F I 2 |

yfafEdl & w@r Fiee |

12. The following is the Receipts and Payments Account of Queen’s Club
for the year ended 31%° March 2008 :

Amount Amount

Receipts Rs. Payments Rs.
To Balance b/d 1,82,000 | By Salaries 1,66,00"
To Subscriptions 1,80,000 | By Stationery 32,00:
To Tournament Fund 1,64,000 | By Rent 48,0(
To Interest (investments)| 65,000 | By Telephone expenses- 8,0C
To Donations 1,12,000 | By Tournament expenses 78,00
To Séle — concert tickets | 2,47,000 | By Investments (6%) 5,00,0C.
By Miscellaneous expenses 24,00,
By Concert expenses 58,0
By Balance c¢/d 36,0C
9,50,000 9,50,0(C

The following additional information is provided :
(a)  Subscriptions include Rs. 10,000 for 2006 — 07 and Rs. 14,000 for

2008 — 09.

(b) Stock of Stationery on 315 March 2007 and 2008 was Rs. 6,260

and Rs. 8,400 respectively.
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(c) Stock of Sports material at the beginning and end of the year was
Rs. 22,000 and Rs. 12,000 respectively.

(d) Rent includes Rs. 4,000 paid for March 2007. Rent for
March 2008 is outstanding.

(e)  Telephone expenses include Rs. 3,000 as quarterly rent up to
315 May 2008.

69 The value of Building as on 31%* March 2007, was Rs. 8,00,000
and you are required to write off depreciation at 10%.

(g)  The value of investments on 31%" March 2007 was Rs. 10,00,000,
and the Club made similar additional investments during the
year on 1% October 2007.

You are required to prepare the Income and Expenditure Account of
the Club for the year ended 31%" March 2008. 6

31 9 2008 F TG B A g & AU FW FOG & NG W@ PAE @i
frfefad 2 .

‘ i e
wifeTar £ RUGIES %.
firgen 3 @ 1,82,000 | 99 1,66,000
= 1,80,000 | Rw 32,000
ZAE w8 1,64,000 | femn 48,000
=t (fafrm) 65,000 | SEHIT =4 8,000
A 1,12,000 | e =4 78,000
el feswe ok | 2,47,000 | 6% fafTm 5,00,000

fafery = 24,000
el = 58,000
oY S A M 36,000
9,50,000 9,50,000
67/2/1 7 P.T.O.



(3) == ¥ 10,000 & 2006 — 07 & 41 14,000 &. 2008 — 09 & wiwfed & |

(@) WIE # ®ie 31 5™ 2007 997 2008 & FAIE 6,200 F. T4l 8,400 F.
o |

(§) IS 9WH & ©iF g9 & YO 997 A< A HEIE 22,000 . AT
'120003 g1 1

() gmiiﬁr 4,000 & H™ 2007 & GEfed € q4r A 2008 F AT e

|

(@) wE =E H 3,000 . dWfus (FEEH) A 31 W€ 2008 9% &
wfwfad g I -

(X) 31 W™ 2007 F ¥aF & geF 8,00,000 F. mwmww%ﬁaﬁ
B Fe 2 |

(@) 319 2007 & faf=@d @ ge@ 10,00,000 %. a1 T F 3 I R
sAfafts fafam & %9 a8 § 1 /@R 2007 & fFar T |

31 O 2008 I TUTE B I @Y & fU FoE H HF-FF QAT IR HAT |

13. X, Y and Z were partners sharing profits in the ratio of 3 : 2 : 1. On
31" March 2008, their Balance Sheet stood as under.

Amount Amount

Liabilities Rs. Assets Rs.
Capitals : Cash at bank 70,000
X : 75,000 Investments 50,000
N 70,0.00 | Patents 15,000
Z : 50,000 [ 1,95,000 | Stock ' 25,000
Creditors 72,000 | Debtors 20,000
General Reserve 24,000 | Buildings 75,000
Machinery 36,000
2,91,000 2,91,000

67/2/1 8



Y died on 31%* May 2008. It was agreed that :

(a) Goodwill was valued at 3 years’ purchase of the average
profits of the last five years, which were, 2003 : Rs. 40,000;
2004 : Rs. 40,000; 2005 : Rs. 30,000; 2006 : Rs. 40,000 and
2007 : Rs. 50,000.

(b) _ Machinery was valued at Rs. 70,000, Patents at Rs. 20,000 and
Buildings at Rs. 66,000.

(¢)  For the purpose of calculating Y’s share of profits till the date of
his death, it was agreed that the same be calculated based on the
average profits for the last 2 years.

(d) The executor of the deceased partner is to be paid the entire
amount due by means of a cheque.

Prepare Y’s Capital Account to be rendered to his executor and also a
journal entry for the settlement of the amount due to the executor. 6

TF, 9% 997 9 WEeR ¥ S oA # 3:2:1 F Iud # fFwia & & |
31 9" 2008 F 3 Fafa-faawor fafafag o -

afer : afer

aand % rafaat _ %
it U oF § 70,000
T ;75,000 fafamT 50,000
s ;70,000 =g s 15,000
~ Sf®: 50,000 | 1,95,000 | ©F 25,000
AR 72,000 | STER 20,000
qH G 24,000 | a7 75,000
i 36,000
2,91,000 2,91,000

=712]1 9 P.1.0:



31#2008@3@3&1@@%1%%%&@@:

(37) @Al # qedikd faa ue @l & oitgd oW & i a8 F g F S
g, ST AT 2003 H 40,000 ¥.; 2004 ¥ 40,000 %.; 20051?; 30,000 %;
2006 ¥ 40,000 %. 91 2007 ¥ 50,000 %. & |

(@) T & gediE 70,000 F., WwE F 20,000 F. TE WEA H 66,000 F.
g |

(@ € F g 9 A 9F 3HF W F A WA FA & v fvew
T fF T @ o fae @ et % SiEd oW % STER WA |

(@) mmﬁwﬁmmwmmﬁgﬁﬁm
R fear s |

o€ & 4T @, S 39E fTeE $ 9N S 2, 99R S o a8 & fees

@ T gAY F YA @ IS qafy off Fif |

14. (a) Wellflo Ltd. took over assets of Rs. 9,80,000 and liabilities of
Rs. 40,000 of HDR Ltd. at an agreed value of Rs. 9,00,000.
Wellflo Ltd. paid to HDR- Ltd. by issue of 9% debentures of
Rs. 100 each at a premium of 20%. Pass necessary journal entries
to record the above transactions in the books of Wellflo Ltd.

(b)  Give necessary journal entries in each of the following cases if
the face value of a debenture is Rs. 100 :

(1) A debenture issued at Rs. 104 repayable at Rs. 100
(ii) A debenture issued at Rs. 100 repayable at Rs. 105
(iii) A debenture issued at Rs. 108 repayable at Rs. 105 3+3=¢

() o R Y wEer fafRe @ gmREl 980,000 . @ AT
40,000 % ' TH fAfv9d g9 9,00,000 . F wa fFAr | dovar fafEcs
q 100 ¥ YF a9 9% ®OE @ 20% Siw W i e
LR, e & e f5E | Sude oReAl & dwied % fag derw
fafree = g H SEvds UsAmer SfEEar S |

@) frfafaa & fau smaves Asamen sfafeal ST afg s o & sifed
11?1100'5.%:
(i) UF T & fiET 104 & F R S 100 €. W 9MEAE a1
(ii) U FO9T # AT 100 . § fear s 105 & W WEHT o

(i) F TOTE AR 108 % F fRT S 105 % W W @

67/2/1 10



15. Alpha Co. issued to the public for subscription 40,000 shares of Rs. 10
each at a discount of 10% payable as Rs. 2 each on application,
allotment and first call and Rs. 3 on the final call. Applications were
received for 60,000 shares and allotment was made pro-rata to 80% of
applicants. R to whom 1,600 shares were allotted paid only the
application money, and S who had applied for 2,400 shares, paid the
entire call money due along with the allotment. Pass necessary journal .
entries to record the above transactions. 8

OR

Petromax Ltd. issued 50,000 shares of Rs. 10 each at a premium of
Rs. 2 per share payable as Rs. 3 on application, Rs. 5 including
premium on allotment and the balance in equal instalments over two
calls. Applications were received for 92,000 shares and the allotment

was done as under :

A. Applicants of 40,000 shares — Allotted 30,000 shares
B. Applicants of 40,000 shares — Allotted 20,000 shares
C. Applicants of 12,000 shares — Nil

Suresh who had applied for 2,000 shares (category A) did not pay
any money other than application money.

Chandar who was allotted 800 shares (category B) paid the call
money due along with allotment.

All other allottees paid their dues as per schedule.

Pass necessary journal entries in the books of Petromax Ltd. to
record the above. '

UTH FAT 4 10 & Y& a1 40,000 3 # gEwtE siveH & fau i
10% g2 R forar fome smed, sEed @ ¥o9 J=q Sos | 2 T a9l
AT W 3 F. WG S <@ 41 | 60,000 W & AT WA 97 W= gL 741 80%
HEaSH H SUIGE. SR | &= fhar T | 3R, 54 1,600 39 q@fea fFfw
T A, F FaA A U F & Prae fFmAr qw ww, FEA 2,400 I & AU
3EeA fFar a1, 3 aEeA & i & o g e & e & far | 3w
el 1 Ol S & AU ey YsAEEl Saea s |

Hgar
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toiey fafies F 50,000 i @, f9d y@s 3w 10 & & o1, 2 & e
R frifd fRam | ofel &1 A 8§, Ieed W, 5 % @A W AEed §ied
g U9 A T @ R H fewdr F ARt | A oS oar 1 92,000 30w
& fau e o gu See smewea fa seR far

A, 40,000 3T & MESH # — 30,000 ¥ yEfed fHw M

9. 40,000 3f¥li % SfETH H — 20,000 W @A fFT T

. 12,000 3T F IMEEH B — @ ’Y M@ TE fFAr W
wmﬁzooom%maﬁmmm(wa)aﬁmwasmﬁﬁ
FE off e & T |

T, 8 800 3fvr smafed fFw 7w (Jvft @), 3 ay@=a URT & g & F=A
e &1 P ff e |

ae ot smEfedl 3 fifved g W e 7 U W gEE R

toiey fafee & ge § 39t & o'l #H & (O evas JsHmEr gfafEr
i _ _

16. Jain and Gupta were partners sharing profits in the ratio of 3 : 2.
Their Balance Sheet on 31%° March 2008 was as follows :
- Amount : Amount
Liabilities Rs. Assets Rs. |
Creditors 20,000 | Cash 14,800‘
Bills payable 3,000 | Debtors 20,500 |
Bank overdraft | 17,000 | Less provision for doubtful debts _ 300 | 20,200 |
Reserve 15,000 | Stock 20,000
Jain’s Capital 70,000 | Plant 40,000 |
Gupta’s Capital | 60,000 | Buildings 70,000 |
Motor Vehicles 20,000 |
1,85,000 1,85,000 |

67/2/1
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They agree to admit Mishra for 1/4™ share from 1.4.08 subject to the
following terms :

(a) Mishra to bring in capital equal to 1/4™ of the total capital of
Jain and Gupta after all adjustments including premium for
goodwill.

(b)  Buildings to be appreciated by Rs. 14,000 arnd stock to be
depreciated by Rs. 6,000.

(c) Provision for doubtful debts (on debtors) to be raised to Rs. 1,000.
f;d)‘ A provision be made for Rs. 1,800 for outstanding legal charges.
(e) ~ Mishra’s share of goodwill/premium was calculated at Rs. 10,000.

Prepare Revaluation Account, Partners’ Capital Accounts and the
Balance Sheet of the new firm on Mishra’s admission. 8
OR

A, B and C were in partnership sharing profits in proportion to their
capitals. Their Balance Sheet on 31.3.2008 was as follows :

Amount Amount
Liabilities Rs. Assets Rs.
Creditors 15,600 | Building ; 1,00,000
Reserve 6,000 | Machinery 48,000
A’s Capital 90,000 | Stock 18,000
B’s Capital 60,000 | Debtors 20,000 |.
C’s Capital 30,000 | Less provision
for doubtful debts 400 19,600
Cash 16,000
2,01,600 | . 2,01,600

On the above date B retired owing to ill health and the following
adjustments were agreed upon :

(a)  Buildings be appreciated by 10%.
(b)  Provision for doubtful debts be increased to 5% of debtors.

1211 13 PO



(c)
(d)

(e)

(f)

(g)

(h)

@)

Machinery be depreciated by 15%.

Goodwill of the firm be valued at Rs. 36,000 and be adjusted into
the Capital Accounts of A and C who will share profits in future
in the ratio of 3 : 1.

A provision be made for outstanding repairs bill of Rs. 3,000.

Included in the value of creditors is Rs. 1,800 for an outstanding
legal claim, which is not likely to arise.

Out of the insurance premium paid Rs. 2,000 is for the next year.
The amount was debited to P & L Alc.

.The partners decide to fix the capital of the new firm as

Rs. 1,20,000 in the profit sharing ratio.

B to be paid Rs. 9,000 in cash and the balance to be transferred
to his Loan Account.

Prepare the Revaluation Account, Partners’ Capital Accounts and the
Balance Sheet of the new firm after B’s retirement.

S a9 T GEER & ST A A 3 : 2 F I # il Fd 3
31 9= 2008 & 39 feafg-faaor f=fafaa o -

67/2/1

U qf3r
<A % Trafaat %.
EEEL 20,000 | I%% 14,800
<7 fom 3,000 | &R 20,500
s aAfufeerd 17,000 | 5 F0T §¥F  —300 | 20,200
BEE] 15,000 | &I 20,000
gl - S 70,000 | ¥ 40,000
St~ T 60,000 | ¥ 70,000

e M 20,000
11,85,000 1,85,000
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frfofad T W 1.4.08 ¥ 3 fisr 9 1/4 99 F 3w F fow @y 2 ¥ fw wewa
ZC ' :

(3r) faam, S99 @ w W wAESE e @nfa % fa g o e @
& TTEN FA YT & 1/4 997 & TR TS & 7 H @R

@) 'qa':rﬁ14,000‘6.ﬁm?weﬁws,oooamjmméi
(@) el W dfcy wll & faw smeE 1,000 F. 9% FAT 7

(@)  FE oA & faw St oenft swew €, 1,800 %, 1 @A AT 8 |

@) | ﬁm%maﬁ@ﬁ)mﬁmw,oooaﬁﬁés

ﬁw%mmg-{{c’qiw. T, R & Ut Wi adr 9w e fafa-faer
TR FifST |

HAgar

3, aamﬁméﬁmﬁmw%wﬁﬁwﬁamﬁt
31.3.2008 & I feafq-faewor fafafaa o :

qfr afyr

LRnil 5. | wefef 5.
| SER 15,600 | 9o 1,00,000
BEES 6,000 | AT 48,000
oSt - & 90,000 | % 18,0.00_

- 60,000 | SR 20,000

Ot - ¥ 30,000 | 97 ®T §IF - 400 19,600,
: e |~ 16,000
2,01,600 2,01,600

STH fIf &l 9 & R & I & FROT I T Tl fwAr qun frefared
s 5 o

(31)  w&T Ft 10% @ & |

@) dfey w=ol & AU AERH, TR F 5% dF HET R |

7/2/1 g 15 P.T.O.



17.

18.

19.

20.

(¥)
()

€))
Ly
()

C))

(%)

TG W 15% B9 & 2 |

HH @ S F e 36,0006.mwmma¢a¥r%rﬁ
gl # foRar T S ofasy § oA #3011 % Iua H fawfa & |
eq 7OHd fore & foT 3,000 %, &1 STESH ST 7 |

eFERl # 1,800 %. 37H H oA % GiAferd § S 3/ T e § |

1 i oTaE § 2,000 %, 37T @Y & fow 9ffad § qon an-ale e
¥ am ¥ forg gu ¥ |

Rt ¥ 7 Wi @ 6 1,20,000 5. FfvEd @ S oI @ RESE F
ST H A |

T #H 9,000 %. wwwmmwwmmaﬁﬁ
ARG & e S |

q & FETER TRV & IW AHcAIRA @, WEER & Sl @ ad TR OGH &6

fefa-faaor TR Fifsw |
PART B
(Analysis of Financial Statements)
T g

(ferta forerconi =1 fergeraon)

State how Cash Flow Statements are historical in nature.

JART % ke o faaor wgfa ¥ Ufaelas g v 8a € |

When is interest received considered as an investing activity ?

W oIS & 999 fFareay w9 g9 S g 2

What will be the operating profit ratio, if operating ratio is 82-59% ?

Iy AU 82:59% ®, A ¥EGH @ SI T & ?

What are the objectives of Financial Statement Analysis ?
foefa foamor favawor & Rvg g1 € 2

67/2/1

16



21. Prepare a Comparative Income Statement from the following : A 4

315 March 2007 | 31%° March 2008
Rs. Rs.
Sales 12,00,000 17,50,000
Cost of Goods Sold 6,00,000 7,50,000
Operating expenses 90,000 80,000

Interest on investments @ Rs. 60,000 and taxes payable @ 50%.

frefafad ¥ qomas g et Jar S

31 914 2007 31 W 2008
5. T, .
foma . 12,00,000 17,50,000
9 T AT H AR 6,00,000 7,50,000
e 4 90,000 80,000

fafrall W == 60,000 %. 8 T41 X 50% H W H T & |

.. (a) Net Profit after Interest but before Tax : Rs. 1,40,000; 15%
long-term debts : Rs. 4,00,000; Shareholders funds : Rs. 2,40,000;
‘Tax rate 50%. Calculate Return on Capital Employed.

(b)  Opening Stock : Rs. 60,000; Closing Stock : Rs. 1,00,000; Stock
Turnover Ratio 8 times; Selling price 25% above cost. Calculate
the Gross Profit Ratio. - 2+2=4

(37) S FeA F g qO W @M & q§ [xH AW : 1,40,000 F; 15%
eI F : 4,00,000 T.; FTER HW : 2,40,000 F.; F B W 50% |
frafsd Ot | Yo @ T S |

(@) IR W% 60,000 T.; A=W =& : 1,00,000 T.; WiH EG I
8 TuT; foska e, A § 25% AfUE | GHA o UG & TUMET HIC |

2 3 7 P.T.O.



23. X Ltd. made a profit of Rs. 1,00,000 after considering the following
items :

(a)
(b)
(c)
(d)
(e)
®

Depreciation on Fixed Alssets. Rs. _20,000
Writing off preliminary expenses Rs. 10,000
Loss on sale of Furniture Rs. 1,000
Provision for Taxation Rs. 1,60,000
Transfer to General Reserve Rs. 14,000
Profit on sale of Machinery Rs. 6,000

The following additional information is available to you :

Items Rs. Rs.

31.3.2007 | 31.3.2008

Debtors <24,000 | 30,000
Creditors 20,000 30,000
Bills Receivable = 20,000 17,000
Bills Payable 16,000 12,000

Prepaid Expenses 400 600

Calculate cash flow from operating activities.

frafafed 73 & == # W@d g¢ T fafee 9 1,00,000 €. F AW FAMT

(@)
)
@)
&
(1)
@)

67/2/1

W gufadl W g9 20,000 T.

RN 241 &l a-mrl]@? 10,000 .
weR @ fash & @ 1,000 ®.

& fag s 1,60,000 .

A 99 % fau gwawer 14,000 F.
T & fashg | @ 6,000%.
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sy frfofaa sifafes gear Suesy 2 -

31.3.2007 | 31.3.2008
L % %
TR 24,000 30,000
TR 20,000 30,000
W faoa 20,000 17,000
& fam 16,000 12,000
e = 400 600

e (aehedl § Uhe YA &I 0T SHIST |

PART C
(Computerised Accounting)
HET T

(Afafe SE@E)

What is Coding ?
HehdeRtor (FifeT) =1 28 2

What is a super group ?

TUR-TE (YW JU) ¥ 7 ?

List any four basic systems of Computerized Accounting System.

RS @ TS & FE IR YR qF AR |

What is import and export of data ?

T 1 3 aur frata s @ 2

What is meant by Internal checks ?

H=fle Sig 1 F aeqd g @ ?

What are the essentials of a good reporting system ?

™ 3 e wefa (Rdifén fawew) & wifas o= w1 § 2

P.T.0.



23. A factory owner purchases a new machine that costs Rs. 9,00,000 and
has a useful life for 10 years, with salvage value of Rs. 90,000.
Indicate the formula to be used in an Excel Worksheet to calculate
depreciafion under the Diminishing Balance Method. Also, using the
formula, calculate the depreciation to be provided for a day, a month

~and a year.

@ bl w1 @l w W oaeie 9,00,000 ® F wF war @ fower swEmd
Samare 10 a¥ 8, 91 IHH AW qed 90,000 F. 8 | FEAW WY YUTSA TN
FH H A FH F AU T vHe Fehsie ¥ WA g e §F @ Qi | g
AW I A F Y, AR F faw qw owE o & few @
S A B A RIS | |

67/2/1 _ : 20 1,50



